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09/04/25 sas2igrt60882_35.ppp_defaut+10d−15_X−stp

1

Following steps removed:

60882.96528 : Step 1 −129100 ns

2

60883.13715 : Step 2 129500 ns

3

60883.56597 : Step 3 −129100 ns

4

60883.70833 : Step 4 129000 ns

5

60884.16840 : Step 5 −129100 ns

6

60884.31771 : Step 6 108100 ns

7

60884.74826 : Step 7 −129100 ns

8

60884.87674 : Step 8 129100 ns

9

60885.18750 : Step 9 200 ns10
60885.34722 : Step 10 −129000 ns11

350 s: Mdev= 0.56424E−11 Tdev= 1140 ps
700 s: Mdev= 0.29498E−11 Tdev= 1192 ps
1400 s: Mdev= 0.18444E−11 Tdev= 1491 ps
2800 s: Mdev= 0.12865E−11 Tdev= 2080 ps
5601 s: Mdev= 0.10160E−11 Tdev= 3285 ps
11201 s: Mdev= 0.79778E−12 Tdev= 5159 ps
22403 s: Mdev= 0.64730E−12 Tdev= 8372 ps
44806 s: Mdev= 0.24075E−12 Tdev= 6228 ps
89612 s: Mdev= 0.27141E−13 Tdev= 1404 ps
179224 s: Mdev= 0.15792E−13 Tdev= 1634 ps
358447 s: Mdev= 0.72012E−14 Tdev= 1490 ps
716895 s: Mdev= 0.65369E−14 Tdev= 2706 ps
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